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lV Semester All U.G. Courses Examination' SeptJOct' 2023

(NEP - Freshers)
COMMERCE (OPen Elective)

Paper - 4.6(a) : lncome Tax for Beginners

Time:2/z Hours
Max. Marks : 60

tnstruction : Answer should be written comptetely either in English or

in Kannada.

SECTION _ A

Answeranyfivesub-questions.Eachsub-questioncarries2marks:

1. a) What do you mean by Agricultural income ?

b) Give the meaning of gross total income'

c) What is meant bY Previous Year ?

d) Define the term Person.

e) Name any 2 taxable Perquisites.

f) Expand CIT and CBDT.

g) Mention any two Special Allowances.

SECTION _ B

Answer any three questions. Each question carries 4 marks :

(5x2=10)

(3x4=12)

2. Mr. Sanju an employee of PQR Co. Ltd. Mysore, has left lndia for the first time
on 1 6th July 2021 tor higher training in U.K. Calculate his residential stalus for
the assessmenl year 2022-23.

3. State whether the following are agricultural or non agricultural income.
a) lncome from supply of water for agricultural purpose.
b) Profit on sale of agricultural land.
c) lncome from farm house situated in agricultural land.
d) lnterest received from loan given to farmers for agriculturar purpose.

P.T.O
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4. Mr. Rajesh is working in a company and getting a basic pay of t 16,000 p.m.,

D.A. at 20% ot basic pay, Commission at 5% of basic pay. HRA at 127" ol
basic pay and bonus equal to two months of basic pay. He is residing in a
rented house at { 3,600 p.m. Determine the taxable amount of HRA for the

4.Y.2022-2023.

5. Name any 4 taxable allowances.

6. Explain any 4 deductions U/S 80.

SECTION - C

Answer any three questions. Each question carries 10 Marks : (3x10=30)

7. From the following particulars ol Mr. Rajesh earned during the previous year

2021-22. Compute his Gross Total lncome for the Assessment Year 2022-23,

if he is

a) Ordinary resident

b) Not ordinary resident

c) Non-resident.

1) Protit from business in Puniab { 1,00,000.

2) lncome from agriculture in Bangladesh { 1,50,000.

3) lncome from property in Mexico received there < 2,00'000'

4)lncomefrombusinessinMumbaicontrolledfromFrance{1'75,000.

5) Profit from business in Ramanagara received in Kanakapura < 1'50'000'

6) Dividend from UK based company t 27'000'

7) Dividend from TATA an lndian company { 15'000'

8) Past untaxed protits brought to lndia t 2'00'000'

9) Gifts from relatives { 5,00'000'

10) Gifts lrom non-relatives t 75'000 received in lndia'
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8. Mr. Kumar is an employee in HMT Ltd , Bangalore' He gives the lollowing

t 2021-22"
information lor the Yea

a) Basic salary { ''tt::J;into retirement benefit)'

b) D.A. { 24,ooo P'm' (en

c) FamilY allowances { 800 P'm'

d) cCA < 2,000 P'm'

e) Education allowances for 2 children at { 400 p m' per child

fl Entertainment allowance t 800 p'm'

g) HRA { 4,500 p.m', but he pays I 8'500 p'm'

h) Company has provided telephone at his residence by meeting all the

expenses amounting to t 7,000 for the year'

i) Conveyance allowance of t 10,0001or visiting the branches (f ully spent)

j) Company has paid lT for t 26,000 during the P.Y.

Calculate his taxable income from salary for the A.y. 2OZ2-Z1.

I Mr. Mahesh gives the foilowing particurars of his income for the previou s 2021_22a) Basic Satary t 2O,OOO p.m.

b) Commission equal to one month,s basic pay.
c) Bonus equal to 2 months basic pay.
d) Chitdren education allowance for his 2 children
e) Entertainment alowance T 4,ooo p.m. 

at ? 400 p'm' per child.

t) Employer paid profes
g) Emproyer contributes 

nal tax on behalf of him { 5'000.

equar amount. 
to RPF is 16% of basic pay anct he arso contributes

h) During the year he har
i) He has .";, ;,;;;; 

paid rnsurance premiurn 
,

officiarand personarorl-Il'n 
12oo cc ;",;;;:' 

his rire ( 12'ooo.

company. rrpose' All ,r," 
"*p*."""i' 

which he uses for both
cluding driver are paid by

Compute his taxable salary income for the Assess ment year 2022-2g.
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Answer anl one of the followi

12. A) List out

OH

12. B) Computeyourown

SECT,ON 
- D

ng questions. 
Each qu

lncome frorn salary with

estion

rmaginary figures.

1o' How doyou deterrnin -4-

t i' shte exernpted jncorn 

the resr*ntral 
status of an ,rr,rrr", o""fllfffitrffimmmes U/S 10.

any g Tax-free Perquisftes.
carries g rnarks : (lxg=g)

oJ:a{odo aaj: eru+{dfeij erJ_do,i,. gg wi-$dotu oddr ecdrig$ docod;dd:

I'qr

,)

tda 
"{g

Oztrozl- a

(5x2=10)
1. a) draucooJ:detdrde&?

b) a,Biercrro$d enrddloea.

c) &ood deaaio ddrd edr-ded:

d) d$ oou ddddlatrmroa.

e) obdoaddo 2 do7171z.ddd:d nHerdSdddleee,.

0 CIT $dlCBDT c$qcdolo.

g) otad)oddrE odd) &ded qJEiiddleodcoo.
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ob{cnddo amO $$eri w$o:r. ge $d4oJel uour* eroddCdr dooad:dd: (3x4=12)

2. PQR dod& oo$a:d dr.rirood &ddoad 9e iorcdd& dodod araorl aeod
16-7-2021 doui qadd deddqolrr" U.K. deddr dzsJd ddele,Cd droed&. .qdd &orl

eeob&4doii ddF 2022-23 pdroa.

3. * ddnd uoaodlrid,: datoo$ voao${pe ergb cajdBe gs.rro.

a) draho$ra*A iducnar: droad Oeo&od uJod rccnodr.

b) du& droar dnoa*6od z".rod ol{.
c) do& qjJoaJo$O;l:d dra d:doc:od aod erdJo$.

d) qdori drDqnoeraod t^;od uQ.

4. 9e @deddddr dodeo$O_oobrOdre"-nr3oap. d:oer dedd { 16,000 4,9
Sorlgri ddob.goa.d. dlqaitsr 20olo d:oe.: dedddO_, da:edo'd:ns dedddO 5%

ddolr:$oa.d. $d crEali N, dr 
" 

deddd0_12% dr3: alaeoH d:oo deddd

add: eorled#,gddoJ::$m.d. erd& zlaari d)dcbo_a;iaand.{6 alDazi { 3,600

d3.godeii dr$jaa."d. $e odevdd doriri t ddd:d a$d z:aari u#rood: dd ddr
2022-2023 d* dod:&E co:o.

5. o3ndoaddo 4 dori aQiudooad tirdddr dio:r

6. U/S 80 d t:aolO_ ud:d chd;oaddra 4 dori daddd$ cdo:,.

aqrod-:J

olndoaddo d).a6 dqied erDdo&. 9,s 8d4o3, 6Bj eoddddldooad$d: (3x10=30)

7. * ddri &eadrd dDe.gobr |e oadeerddd &oad ddr 2021-22d erooJ:dmncj:,

dd ddr 2022-23 E* edd e"u:, eoa oO (GT I ) Qdod:&a ooo. "adci:

a) radnd, eo:roJDnoaji

b) apadmdc a 0iJEaJcJtr RGi
c) s&Dtuo$aR6ijl.
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1) doraodO-&d a-traadood t.rod wtJ t 1,00,000.

2) m ono-ded dra qJna:cotod uod troa od> t 1, 50,000.

3) d)s-dra erl *d $erac$ ero- ddod { 2,00,000.

4) dr:ozJrd a'araadood uod soaodl { 1,75,000 q,oood Oo$cgioEJdd.

5) oE*dzidd a-*oadaod t^:od e,-oqiddldddd)ddO-1do3ond { 1,50,000.

6) o$r.d. aao{d dou3aoood ?,ood eaq:aod I 27 ,000.

7) {deg dod& uooaaod ood caq:aod t 15,000.

8) dori aadd bood ddrzlC oa$ddlqod#r ddond t 2,00,000.

9) ior.:opdood ddd r,rdri.,ad { 5,00,000.

10) iot":ofrae.:otjood ddd erod:rtod eDcHdo_ledrddrEnd { 75,000.

8. $e $d>crdd dorldood d?rr..ic.t"3. O. dodQoJr e,rdiadeno$in*, bcad ddr
2021-22 d *)Eo.go$$ eeBoDd :{o

a) dDxrd d)oe deddt 32,000.

b) dDftd d>t{Nd t 24,000 (0* deddddleld* aadw drld:doduorb{dr).

c) drEtud d>r$ou ffi T 800.

d) CCA dratudt 2,000.

e) 2 dt'*eri do d>:d 9dro ?rdd t 400.

0 dD,$d $dioedoaoa qid, t 800.

g) dD,xd and DDBri q#d t 4,500, (Jdd uDari mdg:,d) dJEtud t 8,500.

h) dodaob t 7,000 $zdlr dne eru?,sd dndoed Se-rdrd$ ?.dn$d.

i) mdd ?i-dd t 10,000 edd saairld$ zte$ Cedel Eor^ld (nodOear $zsarnd).

j) dodoolr: edd ff dori t 26,000 &oad ddr EDds:Jd.

edd dDrlri udddd deddd& dd ddr 2022-23 dr dod)bao$o.
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9. geotud d:deydd$ eroDcd) ddr 2021 -22 d* iouoQ:rdod €r ddnd Ddddddl
0e6&ead.

a) d:oo dedd t 20,000 5i3 ecrldc.

b) dtuedr"if ?.cdr.9clid dr;ao dedd.

c) alneoitr 2 .codd dloo dedd.

O) {.eBcb dt'*d aqWarnd N, de €od$t 400 '-9.9 $rbari.
e) d>ddoao ddd,Sodqrit 4,000.

f) dod&oir: d:des'ddd ddmn udd ff dorioJ:d1a;d3,tr&sEd t 5,000.

g) dode drd: d:deyddd: dedaa 16 d&rd:oo deddd$ RPF docdolrn &eBd:sad.

h) €r ddrde_*deo.dd: ddlded ed:o$ dod: { 1 2, 000 aad€:,d:sa d.

i) edori dodod)J 1 200 ,cr:J 6Dd$ Ora&qA. ei uaddlddg{od{ aadn dcdR o:>

doi8* zxfa{oa.d. add ao_d{, d-rdo ieo dod&o$e aad.gad.

dd ddr 2022-23 d* d:deaddd ioodd t:oao$ddr eld* aa*.

10. rqdjo$ &aai m*oHd>*ded OdroisErtSd ?

1 1, U/S 1 0 d cBo$e_d0rid)od icdosor coacurBriood smo$ridd), A9:r.

a4rozi- e

o$Edmddo r.od $dgi erudotu. d.s 5id*o3> oous eroddddldnoa&dd:

1 2. A) ob{oaddo acup dori - d:-( nderd:ridd1dr.3 d:aB.

cCa,D

12. B) doodacd Ad3-1od gorobdd: ae.rtd eroSddoo6zi dd* -*.

(1x8=8)


